
DEFENSIVE AND COMPETITIVE BIDDING LEADS AND SIGNALS FBB-BBF  CONVENTION  CARD
OVERCALLS - General style : classical OPENINGS LEADS (L) SYSTEM STYLE
Responses :  1/1 F1, 2/1 or 2/2 NF SUIT 5th with 5, 3rd Russinow (=>9); top in partner suit (p.s.) Natural
jump fit showing, jump CB=fit bal. NT 5th with 5, 3rd T/9/8 0-2 H (Q ambiguous, top in p.s.)

UAE II – D2B – 2015-16
Balancing position : X=shape SUBSEQUENT  LEADS :  attitude (suit), top, T promicing behind

dummy with H (NT)
Responses : vs no-trump vs suit contracts (3099) Eric Gilbert Jean-Marc Muspratt (1652)
TAKE-OUT DOUBLE - General style : classical A A(x), AKx(x) A(..), AK SYSTEM SUMMARY (2015-16)
Responses : K K(x), 3+H K(x), AK GENERAL APPROACH AND STYLE Natural

Q Q(x), QJ(..), AKQ(..), HQx Q(x), KQ(x..), [AKQ(..)] 1 nat. 2+

IN BAL. POS. J J(x), JT(..), KQJ(..), AJx J(x), QJ(..), KQJ(..) 1 nat. 4+

Responses : T T(x),  T9(..), HJT(..), HTx T(x), JT(..), KJT(..) 1/ 5+

1NT OVERCALL Responses 9 9(x), T9(..), HT9(..) 9(x), T9(..), HT9(..) 1NT 15-17
2d pos. 16-18,
4th pos. 4 high 5+ low 2-suiter, 4th pos. (bal.) 10-14 (on 1M) 12-14 (on 1m)

8=>2 HH8x, HH9x, KJ98, Q98(..) HH8x, HH9x, KJ98 2 strong undefined or 22-23 bal.

2 weak 6 (pos 123) or GF or NT 24+ (pos 1234)
2X JUMP OVERCALL WEAK INTERM STRONG 2 SUIT SIGNAL WHEN FOLLOWING OR DISCARDING 2 weak 4/5+4/5 (pos 123) or 6 10-12 (pos 4)

Vul  11-14 (V vs NV) 2 1 = odd numbers of cards D = discouraging 2 weak 6 (pos 123) or 6 10-12 (pos 4)
Non Vul  2 2 = even numbers of cards E = encouraging OPENINGS & RESPONSES THAT MAY REQUIRE DEFENCE

Responses :   = when rarely used S = suit preference OPENINGS DESCRIPTION & ANSWERS
UNUSUAL  NT   : CARDS HIGH LOW ODD EVEN OP.1 3NT Pre. in  or 
Responses : On partner’s lead D/2 E/1 OP.2 4/ Positive preempt in /
DIRECT CUE-BID of   1// STYLE          55 SUIT On declarers lead 2 1 OP.3
(1)-2=nat., (1/)-2=55M; (1M)-2M=5M’5m; 2NT=55 Discarding 2e 2 2e 1 1st E 1st S OP.4
Responses : 2NT relay; after (1)-p-(1NT), 2 = 55 without  On partner’s lead D/2 E/1 OP.5
VS strong NT: in 2d pos, X= 4M5+m (after XX, p=relay,
2X=nat. 6 cards), 2= Landy or  (after X, p=6,
XX=relay, 2X=nat.), 2= 6 or (after X, p=6,
XX=relay, 2M=6 cards), 2M=5M4+m, 2NT= , 3=nat.
In 4th pos, X=5+ or 55 strong, 2=Landy, 2//=nat.
5+ cards, 2NT=

VS weak NT
X=14+H (also after
2X)
2 =Landy
2///3= nat
2NT=

NT On declarers lead 1st D
2e 2

1st E
2e 1

OP.6

Discarding 1st D
2e 2

1st E
2e 1

OP.7

SIGNALS IN TRUMP SUIT OTHER SIGNALS OP.8

VS PREEMPT X = Take-out (if nat.); vs 2M weak/Muy, 4m=5m5M’, 3M=; H/L=O Suit : if single at dummy, S SPECIAL COMPETITIVE BIDS THAT MAY REQUIRE DEFENCE
(2M)–X-(p)-2 weak, 2NT=0-7, 3X pos. 8-11 NT : Smith pos. by low CB.1 1M - (X) – 2M weak, 2M-1  = fit M 8-10 fit pts
vs 2M (weak or 2-suiter), X or p-(2S)-X =take-out, 2NT 17-18 Vs 6/7NT, 1st disc.=parity of  suit CB.2 3X/Y (not fit)/2NT by 1X opener=good/bad after 2// by n°4
vs 2 Ekren, X=14-18 bal. or any 19+ , 2=16-18  stop, 2NT 16-18 stops SPECIAL, ARTIFICIAL AND COMPETITIVE DOUBLES CB.3 (1NT) - X=4M5+m, -2 = Landy or  (pos 2)
vs 3X 4m ( jump)=5m5M NF, 4m (CB)=55, 4(jump)=55M Most doubles generally are informative CB.4

CB.5
VS ARTIFICIAL STRONG 1 or 2 OPENINGS VS MULTI OPENINGS

vs 1, X = 5 , 1 = 5, 1//2/ vs 2 (M 2-suiter or any), X=bal.
14-16 or 19+, 2=nat., 2M/NT=
stop/stops 17-18, 3M=55m SGL M’

vs 2 (multi), X=bal., 14-16 or any 19+ (resp., if pass by n°3 not to play,

= 4 ou 6, 1SA = 54M (55 vul), 2M = pass=positive bal., 2M/NT weak, 3 8-10); 2NT 17-18

5M5m, 2SA = 55m vs 2X (strong or TFT weak), X=bal. 14+, 2CB=t.-o. with 0/1, 4m=5m5M’ IMPORTANT NOTES THAT DON’T FIT IN ELSEWHERE

OVER OPPONENT’ TAKE-OUT-DOUBLE SPECIAL FORCING PASS SEQUENCES After PR 2=>3by partn., Bwd modified
1m-(X)-2NT/3m=pr or GF/inviting; 1M-(X)-2M-1=fit 8-10 PSYCHIC  OPENING  : rare EG-JMM v1 31-8-2015
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RESPONSES
(incl. modifications over Competition)

=no, L=limited, N=nat., PR=preempt, NTS=nothing to say,
SGL=single, T=transfer, U=unchanged, W=weak, op.=opening

SUBSEQUENT ACTION
MODIFICATION OVER COMPETITION AND WITH

PASSED PARTNER
Light opening & distorsion  possible in 3rd pos.

1 2 Nat. (10)11+

9+ if 65//
4 1/2/3NT=8-10/L/to play

1/=4+ cards (may have  longer  if not GF)
2//=W
2/3=W/L
3//=PR

1-1NT may hide 4M or 44M
1-1M=unbal. or 18-19 bal.
1M-3NT/4M/4=18-19, fit 4, bal. NF/54M22/64M
1Y/NT-3Z=65Z (< reverse)
1Y-1Z/NT-2=relay, W in or any L or 5Y332 12-
14 or 19-20
1Y-1Z/NT-2 =relay GF, -2(reverse)/3/Y/Z=N GF
1Y-2(reverse)/3/Y=N GF

(X)-2NT/3 5+PR. or GF/L
(1X)- 2X5+L +

(1NT)-2//SA=Landy pref. /Landy pref. /55
3X/2NT by op. good/bad after 2// by opp.

1 4 Nat. (10)11+

9+ if 65/
4 1/2/3NT=6-10/L/to play

2/3=W/L
2/=W
3=L 54
3/=PR

2-3 GF, 2-2-3 GF
1M-1/NT-2/: see 1
1M/NT-3M’=65M’ (< reverse)

(1)-X/1=3- /4+
(X)-3/2NT=L/PR or GF
(1NT)-2=Landy
3X (not in fit)/2NT by op. good/bad after 2// by opp.

1/ 5 Nat. (10)11+

9+ if 65
4 1NT= F1, 6-10 or 11-17 no good suit, or fit 3(4) (low/ L)

2/3NT=fit 3+ GF/fit 3(4) 4333 NF
2/3M=fit 3(4), 8-10/fit 4 PR (W/PR after X)
(X)-2M-1=fit 3(4) 8-10
3=fit4 L/interm.
3NT/4m=to play/splinter

1/NT-2/: see 1
1NT-2//2NT/3X=any 5M332 or N/N/GF/GF 5+X
1NT-2-2/=5/6
1NT-2X-2/3M= N or fit 3, low/fit3 L
2X(no jump)-3/4Y simple jump=5M5Y/splinter
2X-3X GF, 2X-2M-3M=GF
2NT-3=SGL undef. Z1/Z2/Z3/Z1 SGL
2NT-3NT/4X/4M=15-18 bal./55X Z1/bad hand
2M-2-3/NT/3m=try 4 M’/general./ losers

2 =Drury, resp. 2M W, 2 ambig., 2 nat., else GF
3/=
(p/2X)-4m=fit4 or 5, splinter/5m
(1NT)-2NT=55
3X (not in fit)/2NT by op. good/bad after 2// by opp.
I<=if 3X, 1st step=p, 2d step=X, ...
I

1NT 15-17 (6m3M22, 5m4M22, stiff K
or Q possible)

2 =Stayman, may be W
2//3 =T (N/N/N/T after 2X)
2NT =L (T after 2X)
3 =55 L (T after 2X)
3/54m3/ (T after 2X)
4/= 2-suiter /

2-2, 3M=4M5M’ (Smolen)
2-2M, 3M’=fit M GF, 4m=splinter
2-2, 2=5 4 L
2-2, 2=4 L
4-4=fit 
4-4//5/=fit  + aces
4-4NT=neg.

(X penalty or artif.)-XX=5+X
(2X)-X/2NT to 3/3=L+/T/stop+M(M’)
(3X)-X=inform.
2X-(X)-p= stop
2-(X)-p-(p)-XX-(p)-2M=4 cards M’
2/-(X)-p/XX/up= fit/fit3 with stop/stop
2/-(X)-2NT/3fit, else=fit4 stop max/min, stop

2 0  Strong undef. or 22-23 2=W or no good suit

2 0  Weak 6th  or GF, GF (pos 4) 2=p/c, 2NT relay => 3/=W max/min, else GF

2 4  weak 5 5 or 54 or 45 or
44 (NV only), 6 10-12 (pos
4)

p/2/3m=pref., 3/ PR, 2NT relay (see A),
4/=mod. Bwd trump/

A resp. 3=min (see B), 3///NT/4m=max 44
8-9/54/45/44 10-11/55 SGL m
B 3 relay=>3//NT/4m=54/45/44/55 SGL

2 5  weak 6, 6 10-12 (pos 4) 2N= relay (see A), 3= fit L
4=mod. Bwd

A 3/=min, 3/=max with /

2NT 20-21 (5332, 5422, 6m322, stiff K
or Q possible)

3=Puppett, 3/=T (=> A), 3=54, 4m=N, 4M=55m single (A) up=2/3 cards, 3/NT/4m=fit4+ ctrl in suit 3//-(X)-p= stop

3/ 7(6)  PR, Z1 (pos4) 4m’=mod. Bwd Blackwood 5 keys (queen of trump=QoT), answers : 5=14, 5=03, 5//NT=2+ QoT/QoT/void
Blackwood 6 keys : 5=14, 5=03, 5//NT=2+ Q/1 Q/2 Q
After 5m, up ( trump)=relay for QoT & N K (up or 5 agreed trump= QoT, else=QoT+N K)
4NT (5X) p/X= odd/even
4NT = Blackwood, quantitative or negative; jump above game=exclus. Bwd, resp. 0/1/2/3/4
4NT after partn. PR=modified Bwd 0/1 QoT/1+QoT/2 QoT/2+QoT
CB X-(X)-p/XX/else= ctrl X/ctrl X 1st/K, Q or single X EG-JMM v1 31-8-2015

3/ 7(6) PR, Z1 (pos4)

3/4NT  PR (7)8th  or /65m 4=p/c, 4= slam interest

4 0  PR double T, positive up = slam interest

4/ 8(7)  PR


